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OO0000000 O Dolphin dolphin can emit click train and
whistle. how can it distinguish from the background noise. there are
no topic question. All three questions are infer, assumption. (new)
OO0 00O 0. location. but different from old GJ. qulitative factors
such as tax rate, exchange rate are more important than quantitative
factors such as cost advantage when the venture decides the



locations. the last sentence says the venture can consider quantitative
factors after the consideration of qualitative factors. One question is
about last sentence. (1 [1 I O O OO feminized occupation after 80s.
man abstentation. but it is hard to study it. the research was
conducted aboutdeparture. 1 0 0OJO DO OO0 00000
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